AEEE: ERNSYEBMES -
Fill in the blanks according to the figures : ghr?gﬁf:ﬁg?gd height must be
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The height to AB is_ AE . The height to AC is_ BY . The height to CD is_ Bf
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The height to AD is CE . The height to AB is_ DY .  The height to_ BC is EF.
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The height to AB is  CE . The height to AD is  FG . The height to BF is AC.
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Calculate with solution :

FTNBEER=-EXS

Area of parallelogram = Base x Height
=AEKER-ExX&2

Area of triangle = Base X Height + 2
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Area . 0X06+2 Area of the/shaded part 40x25-20x15+2
= 18cm? = 850cm?
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